SAMPLE SOLUTIONS MZ66 [May 2005] Section A (Fasier Q's - H/N) E= action/Computation A= Answer Q1 At points, x=2, \(\frac{1}{2}, \) test f(z) = 0.776970f(z.5) = -0.70067 < 000 [2,2.5) Contains one voot of fix). Next differentiate to get $f(x) = -2 + \frac{1}{1+2} - \frac{1}{1+3}$ $= -\frac{2(x+7/2)^2-3/2}{(x+2)(x+3)}.$ With 2107 given, the NR takes the form $\chi'' = \chi'' = f(\chi'')/f'(\chi'')$ Given 7 (0) = 2.5

(2) = 2.5 (3) = 2.39760 (3) = 2.39755

١

m6

Fz + Az+Az

$$\frac{92}{-2-1} = \frac{-3}{2} = \frac{-6}{2} = \frac{12}{R_2 - \frac{2}{3}R_1} = \frac{-3}{6} = \frac{-6}{12} = \frac{12}{6} = \frac{-3}{3} = \frac{-6}{6} = \frac{12}{3} = \frac{-3}{6} = \frac{-6}{12} = \frac{$$

The GS method for 2" = 2" is $\begin{aligned}
3Z_{1}^{(n+1)} &= 20 - Z_{2}^{(n)} \\
4Z_{2}^{(n+1)} &= 19 - Z_{1}^{(n+1)} - Z_{3}^{(n)} \\
4Z_{3}^{(n+1)} &= 29 - 2Z_{2}^{(n+1)} + Z_{4}^{(n)}
\end{aligned}$ $\left(3 z_{0}^{(n+1)} = -5 + z_{3}^{(n+1)}, \quad n = 0, 1, 2 \right)$ $\begin{pmatrix} \chi_{io}^{(0)} \\ \chi_{io}^{(0)} \\ \chi_{io}^{(0)} \end{pmatrix} = \begin{pmatrix} 9 \\ 9 \\ 9 \\ 6 \end{pmatrix}$ Iterate with you Obtain the Gerschgories disks as [12-21=1 12+81=2 Since all disks are separated, A(A) = **F**. real and the appropriate choice may +AI of =-18 for the evalues by IPM.

$$\frac{Q6}{R} \text{ The Las range polynomial is} \\
P_{3}(x) = \sum_{i=1}^{4} y_{i} \prod_{j=1}^{4} \frac{x-x_{j}}{x_{i}-x_{j}} \\
= -\frac{(x-2)(x+2)(x+1)}{6} + \frac{4(x-2)(x+4)(x+1)}{3} \\
= -\frac{2(x-2)(x+2)(x+1)}{6} + \frac{(x-2)(x+4)(x+1)}{3} \text{ or} \\
= x^{3} - \frac{2x}{3}x^{2} + 28x - \frac{52}{3} \text{ optional}$$

$$\frac{27}{R} \frac{dy}{dx} = f(x,y), \quad y(0) = y_{0}, \quad x_{j} = jh, \quad y_{x_{j}} = y_{j}, \quad y_{x_{j}} = y_{j}, \quad y_{x_{j}} = y_{j}, \quad y_{x_{j}} = y_{j}, \quad y_{x_{j}} = y_{x_{j}}, \quad y_{x_{j}} = y_{x_{j}} + h f(x_{x_{j}}, y_{x_{j}}) = y_$$

Further from
$$(L+D)Z \stackrel{k+1}{=} -UZ^{k} + b$$
 m!

[Note $AZ = (L+D)X + UZ$]

We have $T_{qs} = -(L+D)^{'}U$

$$= \begin{bmatrix} -\frac{1}{3} & 4 & 4 & 4 & 4 \\ -\frac{1}{3} & \frac{1}{4} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} \\ -\frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} \\ 0 & \frac{1}{3} & \frac$$

Q9 i) Obtain L from changing signs of lij

$$L = \begin{bmatrix} -\frac{1}{3} & 1 \\ 0 & \frac{1}{3} & 1 \\ 0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} \\ 0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} \\ 0 & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} & \frac{1}{3} \\ 0 & \frac{1}{3} \\ 0 & \frac{1}{3} \\ 0 & \frac{1}{3} &$$

Q10 The SIPM is the following

$$Z = Z^{(0)}$$
 $Z = Z^{(0)}$
 $Z =$

With
$$Z = Z^{(0)} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$
 and $Z = -8$,

the LU factorization is used for solving $(A+8I)y = Z = S0$

Step1 From $(A+8I)y = Z = S0$

Step2 From $(A+8I)y = Z = S0$

Step2 From $(A+8I)y = Z = S0$
 $Z = y_{\mu} = \begin{pmatrix} -0.043t, -0.1, 1 \end{pmatrix}^{T}$

Step2 From $(A+8I)y = Z = S0$
 $Z = y_{\mu} = \begin{pmatrix} -0.043t, -0.1, 1 \end{pmatrix}^{T}$
 $Z = y_{\mu} = \begin{pmatrix} -0.043t, -0.1, 1 \end{pmatrix}^{T}$
 $Z = y_{\mu} = \begin{pmatrix} -0.043t, -0.106, 1 \end{pmatrix}^{T}$
 $Z = y_{\mu} = \begin{pmatrix} -0.043t, -0.1006, 1 \end{pmatrix}^{T}$
 $Z = y_{\mu} = \begin{pmatrix} -0.043t, -0.1006, 1 \end{pmatrix}^{T}$

and $Z = S0$
 Z

g

First eqn at
$$(x_1, y_1) = (0, 0.1)$$

(1+y₁) $\frac{u_{21} + 5 - 2u_{11}}{h^2} + (1+x_1) \frac{u_{12} + 5 - 2u_{11}}{h^2} = (x_1 + y_1 + 1)^2$

i.e. $110 M_{21} - 420 M_{11} + 100 M_{12} = 1.21 - 1050 = -1048.79$

2nd eqn at $(x_2, y_1) = (0.1, 0.1)$

(1+y₁) $\frac{u_{11} + 5 - 2u_{21}}{h^2} + (1+x_2) \frac{u_{22} + 5 - 2u_{21}}{h^2} = (x_2 + y_1 + 1)^2$

i.e. $110 M_{11} - 440 M_{21} + 110 M_{22} = -1098.56$,

Third eqn at $(x_1, y_2) = (0.0.2)$
 $120 M_{22} - 460 M_{12} + 100 M_{11} = -1098.56$,

Fourth eqn at $(x_2, y_2) = (0.1, 0.2)$ as $(4 \times A)$.

So the $2S$ is

$$\begin{bmatrix} -420 & 110 & 100 & 0 \\ 110 & -440 & 0 & 110 \\ 100 & 0 & -460 & 120 \\ 0 & 110 & 120 & -460 \\ 0 & 110$$

/

Q12 Let
$$f = \chi^{\circ} = 1$$

$$\int_{-1}^{1} f d\chi = 2 = W_{0} + W_{1} + W_{2}$$

$$\int_{-1}^{2} f d\chi = 0 = W_{2} - W_{0}$$

$$f = \chi^{2}$$

$$\int_{1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0} + W_{2}$$

$$\int_{-1}^{2} f d\chi = \frac{2}{3} = W_{0}$$

$$\frac{\sqrt{3}}{\sqrt{3}} = \sqrt{3} + \sqrt{1} + \sqrt{3} + \sqrt{3}$$